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SH: URIS
Za: DTS FOIME D
= B 2ZUaz
- — _ N e
CHEB L CRI(E) - NRAY - BAS Ak e
RERE= 143,482 148,412
AlHI 10,500
-l 132,982
13 QIdlgy DBt 3t 124,686 129,886
AlHI 10,500
el 114,186
=3 =S UA S 124,686 129,886
AlHI 10,500
-4l 114,186
Xz 2FE=x 14,000 15,400
AlHI 10,500
-l 3,500
2B A 14,000 15,400
AlHI 10,500
-l 3,500
01 AFR 22l 14,000 15,400
OFUXNXE T2 LA
20,0003 »453| x12& 10,800
AlHI 8,100
-4l 2,700
O=8XX 23 2o A =G
10,0003 #25H + 122 «90% 2,700
Al Bl 2,025
-l 675
OsEs H&E 500,000& 500
AlHI 375
-l 125
s -8y gs NH 92,920 92,920
301 et24 = 92,920 92,920
05 &-cl-EtEEs2as 92,920 92,920
(OF=FS L=y 200,000 «28Y 123 67,200
Os&EHH= 200,000 +28H 23| 11,200
OgtEeEs=s 25,0003 » 156 H 23| 7,800
Os&ze &4 20,0003 28 «123| 6,720
HASA ¥ XtE2el 14,276 18,076
201 B3| 14,276 14,276
02 E&E=23Hl 14,276 14,276
O& A2 700
st 34 200, 000& 200
SH83 A 200,000& 200
= =PI R IN 300,000& 300
oxg =X 3,400,000& 3,400
OFA H&AZH| 1,648,000& 1,648
O&A 2E 7/ 1,258,000& 1,258
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SH: RS
Ha: DS FLIME JIPLa
el ZOIME 2L (e @8
] _ - MG =
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
nE=PI= 143,090 133,890 9,200
ALt 18, 150
2| 124,940
UW2S FIME J|grs 120,834 116,134 4,700
ALt 18,150
2| 102,684
ZOIME 2Yals 120,834 116,134 4,700
ALt 18,150
2| 102,684
=oINHE 2YLEE 24,200 25,600 A1,400
Al 18,150
2| 6,050
201 Yereg| 14,000 15,400 A1,400
At 10,500
2| 3,500
01 AtR2elt| 14,000 15,400 A1,400
OF0IXXIS T2 AA4L
20,0002 *453] 128 10,800
Al 8,100
2l 2,700
OF AN sl &4 &g
10,0008! %2583 * 1251 +90% 2,700
Al 2,025
2| 675
OE22 M 500,000%! 500
Al 375
2| 125
301 YerBAZ 10,200 10,200 0
AlHI 7,650
2| 2,550
12 JIEt2 A 10,200 10,200 0
OBMZRY UASAK b2
10,0002 «853| * 122 10,200
Al 7,650
2| 2,550
S Uy 25 19 73,680 73,580 100
301 YsrPAS 73,680 73,580 100
05 -2 -HPBS2BHI 73,680 73,580 100
Osz+g 200,008 20 * 122 52,800
OSZANNS 200, 0002 x22 +23| 8,800
OSHso Basg 20,000 %2284 x 128 5,280
ouEBAI 25,0002 * 1362 x23| 6,800
HARK L K 19,634 13,634 6,000
201 Ygreg| 3,634 13,634 0
02 22| 13,634 13,634 0




CHH (3 H) - HEAY

EHS

22
J2

=1
R
121

SEREE 700
Hax Ha 200,000 200
s93 A 200,000 200
W e 2K 300,000 300
Oxg KX 3,600,000%! 3,600
OFA o2y 306,0002! 306
OFA A28 758,000 758
OFA ®D|2 6,420,000 6,420
OHA & - StaEE 350,000 350
OFA RUYE 428 1,440,0002 1,440
OFA BRMERYS 60,000€! 60
Al HIZ = Oh 6,000 0 6,000
Al & 6,000 0 6,000
OSHA Lo T 6,000,000 6,000
DD 2y 3,020 3,020 0
201 Ler2 Y| 3,020 3,020 0
01 AtR2ell 3,020 3,020 0
OSIZMAL W= 500,000 500
OUOINERIH S 2 300,0002 *2H 600
OHOIMERIE EH 72 17000021 %44 680
O=A EH 7 190,0002 %44 760
HA El4 P 160,0002 %374 480
Newe 25 1 300 300 0
ST PN 300 300 0
EERE) 300 300 0
OF0l [sw S N B4 300,0008 300
£ HI(UH2S) 22,256 17,756 4,500
22,256 17,756 4,500
HI 22,256 17,756 4,500
g2y 8,456 8,456 0
01 AtR2ell 5,256 5,256 0
ORAeY+gH| 2,610,000 2,610
OJl=eas 2yl 2,646,000 2,646
zZz2gl 3,200 3,200 0
om= 3,200,000 3,200
AR EAY| 9,300 9,300 0
JBeYYREaY| 5,940 5,940 0
OJlzegdexay| 6,600, 0002 *90% 5,940
Hetar R A 360 360 0
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SH: RIS
Hal: DFIS FLME JlprLst
Sl FOIME 2YLHAS (649l &2
= T S =
SN EB -GS - MBAY - BES 0 & 24 e HRE2
nEkE 143,319 145,309 A1,990
Al 18,525
2| 124,794
UHIS ZOIME |8+ 125,443 127,563 A2, 140
AlHI 18,525
2| 106,918
ZOIME 2Yas 125,443 127,563 A2,140
AlHI 18,525
2| 106,918
ZOIRXIE 2YBE 24,700 26, 100 A1,400
AlHI 18,525
2| 6,175
201 Yereg| 15,440 16,840 A1,400
AlHI 11,580
2| 3,860
01 AtR2elt| 14,000 15,400 A1,400
OFQXXIE T2 A=Y
20,0002 *453] 122 10,800
AlHI 8, 100
2| 2,700
OFQX XIS 59 &A ag
10,0008 %252 * 123] +90% 2,700
AlHI 2,025
2l 675
OE22 M 500,000 500
AlHI 375
2l 125
02 ZZ2Y| 1,440 1,440 0
ONSTHB OIEY AHBE 120,000 122 1,440
AlHI 1,080
2| 360
301 YerEaz 6,260 6,260 0
AlHI 4,695
2l 1,565
12 JIEt2 43 6,260 6,260 0
RSTAB NHEBAK AHl2a
20,0008 +3133 6,260
AlHI 4,695
2| 1,565
405 XtorE S| 3,000 3,000 0
AlHI 2,250
2| 750
02 SATYYI 3,000 3,000 0
ONSENT TN 7Y 10,0002 %3002 3,000
AlHI 2,250
2| 750




M H3IS
g NH3s FodE D

5 |8k 3t
Sol: ZOIME 2YLHA S (Etel: &8
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ol AF o8 BlusZ
£ By 25 (¥ 72,880 72,880 0
301 YptEAZ 72,830 72,880 0
05 -2 - BESSIAZ 72,880 72,880 0
OsH+Y 2000002 «2224 12 52,800
OsSH&NE 200, 000! 22 *23| 8,800
OEH35l9 #M4+Y 20,0002 222 *128] 5,280
osrzEAZ 25,0002 *120% +23| 6,000
HARN ¥ xrBe 24,373 25,113 AT40
201 Lete gyl 22,393 21,433 960
02 22| 22,393 21,433 960
OB 22l 700
Hotx Ha 200,000% 200
293 34 200,000%! 200
G4 - )| )X 300,000 300
oxg fx 3,400,000% 3,400
OF A eI 2,575,000% 2,575
OFAM 2HE KX 2,875,000% 2,875
OFA MIIE 9,855,000% 9,855
OFA BOIYH 248 1,692,000% 1,692
OFA BHME2SZ 96,0002 %
OFM DERLSZ 400,00094 400
OFA & - SI+E8 800,000% 800
307 BI2t0IH 1,980 1,980 0
05 BI2teIEt3 1,980 1,980 0
O24HstAla fistnel 165,000 * 122 1,980
BT 2 3,190 3,190 0
201 Y2 | 3,190 3,190 0
01 At el 3,190 3,190 0
OLlaAAl M= 500,000 500
OHOIMEIRIE S8 2 300, 000! *274 600
OHOINIRIE EH 2 170, 0008 *54 850
O=AIIEH 7Y 190, 000! *44 760
OBAEL 7Y 60,0002 +30H 480
=0l GEwe 2= X 300 300 0
301 YR A 300 300 0
12 JIEtR &2 300 300 0
OF8l NS ¥= HIIK 24 300,000 300
BHSAAY (VF3S) 17,876 17,726 150
o=l 17,876 17,726 150
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A UE4S

HE: DFAS FOME |grs
el ZOIME 2L (el &2
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o bRz
A4S 134,119 119,457 14,662
Al 2,300
2| 121,819
NU4S FOIME |85t 112,291 101,701 10,590
Al 12,300
2| 99,991
FOME YA 112,291 101,701 10,590
Al 12,300
2| 99,991
FoINRE 2YRE 16,400 18,280 A1,880
Al 12,300
2| 4,100
201 Yer2 Y| 16,400 18,280 A1,880
Al 2,300
2| 4,100
01 AR eIt 16,400 18,280 A1,880
OFUNKSE T2y AL
20,0001 *553] + 122 13,200
Al 9,900
2l 3,300
OF AN sl &4 &g
10,0002 +25% * 1251 *90% 2,700
Al 2,025
2| 675
0222 M 500, 0002 500
Al 375
2| 125
S8 25 AW 66,000 66,000 0
301 YLrBAE 66,000 66,000 0
05 -2 -EESRAZ 66,000 66,000 0
Oszy+g 200, 0002 *20% * 122 48,000
OSHA0IZ 200,000 *202 *23] 8,000
OS&slo BMaxg 20,0002 #2025 * 128 4,800
OU B4 25,0002 * 10484 %23 5,200
AN 2 X2 26,571 14, 101 12,470
201 LByl 14,301 14, 101 200
02 IZ2Y| 14,301 14, 101 200
OB A2 700
HEE Ha 200, 000! 200
293 2 200, 00024 200
4 L] X 300,0002! 300
OxXg !X 3,400,000 3,400
OFAM Lt 2H| 2,060,000 2,060
O 242 27 1,561,002 1,561
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SN gels
M g2|S FOME I8

ol FOIMESY fad CLE-ED
— _ N e
SA B B(E) - NEAY - BAS 0f & 04 e HInE
gels 180,942 179,422 1,520
Altl 10,500
-4 170,442
gels FLHE Jlerdst 159,632 158,112 1,520
AlHI 10,500
]l 149,132
FOHEHSIE a3t 159,632 158,112 1,520
AlHI 10,500
-4l 149,132
FUXXE 292X 14,000 18,280 AN4,280
AlHl 10,500
4 3,500
201 L3y 14,000 18,280 A4,280
AlHl 10,500
4l 3,500
01 AFR 22l 14,000 18,280 AN4,280
OFOUXXE Z2 08 ZAIY
20,0003 »453| x12& 10,800
AlHl 8,100
=l 2,700
OFOUNAALE SlOBM 42
10,000 & *25H x 123] *90% 2,700
AlHl 2,025
-4l 675
OsEs H&E 500, 000& 500
AlHI 375
-l 125
s Bty gs N2 117,050 117,050 0
301 LEEAZ 117,050 117,050 0
05 &-cl-EtEEs2as 117,050 117,050 0
(OF=FS L=y 200,000 «35Y 123 84,000
OsEHHB 200,000& *35H 23| 14,000
Os&3 o a8 20,0002 35«12 8,400
OB A3 25,0003 213 23| 10,650
EAMRX Z ISz 24,572 18,772 5,800
201 LEt23| 13,972 13,772 200
02 23=2ZH| 13,972 13,772 200
OF At 2tel 700
X A 200,000& 200
=83 A 200,000 200
== =N 300,000& 300
Ooxg SAl 2,600,000 2,600
OFA H&AZH| 1,648,000& 1,648
O&EAM HE2 | 1,081,000& 1,081
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SN GHEHS
M GIEHS FOIME D|grast
o9l FOIME 2gLjast (S5 &2)
_ o HEE
SN B EQ(E) - HIRAY - BES Ak o il i~ o 2
129,345 132,399 ~3,054
Al 8,880
2| 120,465
ZOIME JlP L5 110,499 113,159 A2,660
Al 8,880
2| 101,619
HE SZUA S 110,499 113,159 A2,660
Al 8,880
2| 101,619
BIXIXIS 2YBX 11,840 13,000 A1,160
Al 8,880
2| 2,960
201 LBt t) 1,840 13,000 A1,160
Al 8,880
2| 2,960
01 A2l 11,840 13,000 A1,160
OFURAS Z2I8 LA+Y
20,0002 %363| * 122 8,640
Al 6,480
2| 2,160
OFANXAAS sl0l&A &g
10,0002 +252 12| +90% 2,700
Al 2,025
2l 675
OE=22 M 500, 0002 500
Al 375
2| 125
S 2% 25 X8 82,450 82,450 0
01 LerE A 82,450 82,450 0
05 S-2-BZESEN 82,450 82,450 0
osz+g 200, 0009 +25% * 122 60,000
OSZA0Z 200, 0002 *25% *25| 10,000
OSFslo gH+g 20,0002 25 « 128 6,000
o243 25,0002 129 +25| 6,450
HALRK o RE2el 12,199 13,699 A1,500
201 LBt 12,199 11,999 200
02 B2 2,199 11,999 200
OB B2 700
HEE HA 200, 0002 200
293 4 200,0002! 200
4 Ul /X 300,0002! 300
Oxg ] 2,600,000%! 2,600
OF A el Z | 1,648,0002 1,648
OFA 28 KX 1,058,0002 1,058
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S83 A 200,000& 200
=R -\ BN 300, 000& 300
oxg |A 2,800,000& 2,800
OFEA HeEtrAZHI 204,000 204
O&EAM 4= |X 1,130,000& 1,130
O&A &Iz 6,955,000& 6,955
OFA & -ot=Ek2 500, 000& 500
O&A R =232 1,611,000& 1,611
OFEAMN SHMEHRE S 58,000& 58
QAT 2Y 5,880 5,880 0
201 Let2d| 5,880 5,880 0
01 AFR 22l 5,880 5,880 0
ORAAMA HMZ 500, 000& 500
OdioIdEelH &8 2 300, 0003 =474 1,200
OdioIdEelH EH 2 170,000 =104 1,700
OSMIIEH ¢ 190, 0002 *8H 1,520
OBAEH 2Y 160,000 61 960
g sy gs I3 300 300 0
301 LEtEAZ 300 300 0
12 JIEtE 4= 300 300 0
O=0 =<9 g3 A 24 300,000& 300
HY2IHFHI(CHU1S) 29,084 29,098 A4
ZHl 29,084 29,098 A4
=224l 29,084 29,098 A4
201 LetEd| 17,134 17,108 26
01 AFR 22| 10,634 11,108 NAT4
ORMEIE+=EHI 5,930,000 5,930
OJl=2gdf=+8 =gl 4,704,000& 4,704
02 2234l 6,500 6,000 500
oREZz 6,500,000& 6,500
203 HRF&H| 11,950 11,990 240
01 J|22S PR F=&HI 7,110 7,110 0
OJ2#2Z YR =2l 7,900, 000& *90% 7,110
02 FRAANMAHSFAHI 640 680 240
O&E It 2= Ad| 640, 000& 640
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M CHH2E

M Oi2s =2 dlE Jlet2st
ol FOIME 2YLHA S (649l &2
S - MM .CQ(FH) - MBAIY - BAS A} OH HE ot
CtoHes 197,895 196,639 1,256
AlHI 15,630
-4l 182,265
Ctii2s ==2IdE Dl 169,129 170,009 A 880
AlHI 15,630
T Hl 153,499
FodY 2SUHA S 169,129 170,009 A 880
AlHI 15,630
Tl 153,499
FO X2 2HEX 20,840 19,840 1,000
AlHI 15,630
-4l 5,210
201 LEH2HH| 17,840 16,840 1,000
AlHI 13,380
-4l 4,460
01 AtE22/Hl 16,400 15,400 1,000
O=0Axs 2208 A=
20,000 #553] « 123 13,200
AlHI 9,900
-4l 3,300
OZQIRXIAE slo&A S
10,000 x25H +123] 90% 2,700
AlHI 2,025
-4l 675
OE2= M 500,000& 500
AlHI 375
-4l 125
02 3=l 1,440 1,440 0
OX2Z M QHY AHES 120,000& «12& 1,440
AlHI 1,080
Tl 360
405 XtobE SHI 3,000 3,000 0
AlHI 2,250
-4l 750
02 EM-H 3,000 3,000 0
ozt & 10,000& =300 3,000
AlHI 2,250
el 750
s -2 25 N3 116,410 123,340 6,930
301 et ez 116,410 123,340 6,930
05 S-cl-e&EEs24d=3 116,410 123,340 26,930
os&d=+4 200,000 «34H « 128 81,600
osdau= 200,000 »34H #2323 13,600
Os&3le A+ 20,0002 x34H 123 8,160
OgtEEs=s 25,0003 »261H »23] 13,050
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SH: TS
M (25 FOME
el ZOIME 2L

=
o

SMN-HHM .. AHA(SH) - MRAY - BES Aol a4 Hlw &2
- cSH I T2 ° . [= Bl e =5 0:”/‘l|_% Lsa
EAFA L Xzt 23,519 22,819 700
201 LBt 21,019 20,819 200
02 2223l 21,019 20,819 200
OFEMSX 700
ot A 200,000 200
=283 A 200,000& 200
@) X 300, 000& 300
Ooxg | 2,400,000& 2,400
OFAN 2= &KX 1,800,000& 1,800
O&EAM &2 11,770,000& 11,770
OFEAM & o2 1,000,000& 1,000
OFA 200G =22 (HALESEAR)
3,000,000& 3,000
OEAMN SHMHREZ 99,000& 99
OFEAN NERLFES 250,000& 250
401 AIEHIZ 2 2,500 2,000 500
01 Al&t| 2,500 2,000 500
OFUSEH & Q3tE B39 2t90| &
Xl 2,500,000 2,500
QRER 2 8,060 3,710 4,350
201 Lty 3,710 3,710 0
01 AtE22|Hl 3,710 3,710 0
ORAMA HMZ 500, 000& 500
OdioldEely &8 2 300, 000& *2J4 600
OdoIMESH EH 2 170,000& 64 1,020
O=SADIEH 7Y 190, 0002 *5IH 950
OHAEH 7Y 160, 0002 =44 640
405 ItHatE S| 4,350 0 4,350
01 XY 2EFFHSHI 4,350 0 4,350
O A 4,000,000 = 1CH 4,000
OZAMESD] 350,000 *1CH 350
=g sed s A 300 300 0
301 LpB AR 300 300 0
12 JIEtE2 43 300 300 0
O=8 As8%4d &3 IR 24 300,000 300
MYy 2HHH(CU2s) 28,766 26,630 2,136
=2 28,766 26,630 2,136
Jle=3| 28,766 26,630 2,136
201 LBt 14,996 15,920 A924
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2M: Ctii2s
M HFH2AAHI(CI2S)
el Jl2&El

=

e

CEE . (31) - MISARY -

el

2
J2

AtR22tel 9,99%
ORANZ2E =84 5,880,000& 5,880
OJlz2dl=4d S| 4,116,000& 4,116
3&=23Hl 5,000
(OFSEN= 5,000, 000& 5,000
2R =2 10,670
22 2= 7,110
O 22 YL=LH] 7,900,000 *90% 7,110
IR 560
OFJ AR FHI 560,000& 560
FAEEHERFAH 3,000
ORNzEg2FaYl 3,000, 000& 3,000
A&k SH 3,100
A =SS HSHI 3,100
O2% 3lola HLHgI[(99m)  2,000,0002 =1 CH 2,000
O321&EII(XI5t 3124t) 600,000 = 1CH 600
OMSII(XIGH 3l12l4) 500,000& 1CH 500
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SN PES
B DEE FOME e
Erol: FOIME 2oLjAE =
l:‘}\_l X~ xH C|—O|(§I]:”) }\-“C‘}\I.O'l HASX2 AFOH I|_‘|LI;=|_|‘:_ ot
. o= T ° - (= S /= (L] 0:”{:'_% (=]
“Es 84,588 77,511 7,077
AlHI 11,250
-l 73,338
“EHs FQHH Dl 64,853 62,703 2,150
AlHI 11,250
el 53,603
QIde 2SS4 64,853 62,703 2,150
AlHI 11,250
-4l 53,603
FUXXE 292X 15,000 14,000 1,000
AlHl 11,250
-l 3,750
2B A 15,000 14,000 1,000
AlHl 11,250
-l 3,750
01 AtR 22 14,000 13,000 1,000
O S22 Mg
20,0003 »453| x12& 10,800
AlHl 8,100
-4l 2,700
OFUXXAJS oz =&
10,0003 #25H *122] *90% 2,700
Al Bl 2,025
-l 675
Oo=2= A 500, 000& 500
AlHI 375
-l 125
2323 1,000 1,000 0
OFaE e
1,000,000& 1,000
AlHI 750
-l 250
s -8y gs A 31,410 31,410 0
301 et24& = 31,410 31,410 0
05 &-cl-EtEEs2as 31,410 31,410 0
OF=FSE=) 200,000 9 12 21,600
Os&EHH= 200,000& x9H »23| 3,600
Os&ze 4= 20,0003 x99 «12& 2,160
OHEZEAS 25,0003 x81H »23| 4,050
HASA ¥ XtE2el 14,823 11,873 2,950
201 B3| 12,073 11,873 200
02 =234l 12,073 11,873 200
OF A 2tel 700
st 34 200, 000& 200
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SN TES
I PEE FOME B2
el FUIME 2dUlas (a2
SN C(BH) - NRAY - HES Aro Soe HlmE2
S83 A 200,000& 200
Sl HeE |X 300,000& 300
oxg =X 2,400,000 2,400
Q&AM Hd=2 |X 1,452,000& 1,452
O&A &Iz 5,350,000& 5,350
OFAL & -6t 2 300,000& 300
OFEAMN R =2 1,769,000& 1,769
OEAMN SHMHREZ 102,000& 102
AH&HE S HI 2,750 0 2,750
&L =S FSHI 2,750 0 2,750
O e 2,750,000& 2,750
2l - 2g 3,320 5,120 A 1,800
2 et ZH| 3,020 3,020 0
01 AtE222|H] 3,020 3,020 0
ORIAAMA MZ 500,000& 500
OdI0IMESIH &8 2 300, 000& »27H 600
OdoIMESH EH 2 170,000 =44 680
O=ADIEH 7Y 190, 000-& =44 760
OBAEH 7Y 160, 0002 *3H 480
A&t SH| 300 2,100 A 1,800
AL 2 ZFSHI 300 2,100 A 1,800
O A& S| 300,000 = 1CH 300
=g Hsed gs A 300 300 0
AuBAS 300 300 0
JIEtE A Z 300 300 0
O=0 =49 g3 A 24 300,000& 300
HY2HHH(FRES) 19,735 14,808 4,927
& 19,735 14,808 4,927
I ]l 19,735 14,808 4,927
BRI 5,588 5,588 0
01 AFR 22| 3,588 3,588 0
ORMEIE+=EHI 1,530,000& 1,530
OJI12gf+d =2l 2,058,000 2,058
23224l 2,000 2,000 0
(OF L= 2,000,000& 2,000
AR F&H 9,220 9,220 0
|22 R F=&H| 5,940 5,940 0
OJ2#2Z YR =2l 6,600,000& *90% 5,940
AN HRFAH| 280 280 0
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SN

<EE |er2t 3t
el B 2gUast (ctel: &
— _ N e
HE . C9I(BH) - NRAY - BAES Aro e Hlm= 2
2 & 158,030 158,230 A 200
Altl 10,500
-l 147,530
Z QIdlgy DBt 3t 138,390 138,590 A 200
AlHI 10,500
el 127,890
SIS 138,390 138,590 A 200
AlHI 10,500
-4l 127,890
X 292X 14,000 15,400 21,400
AlHl 10,500
-l 3,500
2 Bt2 Z | 14,000 15,400 21,400
AlHI 10,500
-l 3,500
01 AFR 22l 14,000 15,400 A 1,400
OFUXNXE T2 LA
20,0003 »453| x12& 10,800
AlHl 8,100
-4l 2,700
OFBIXAAS 30 &A g
10,0003 #25H *122] *90% 2,700
Al Bl 2,025
24| 675
OsEs H&E 500, 000& 500
AlHI 375
-l 125
s -8y gs NH 104,190 104,190 0
301 et24 = 104,190 104,190 0
05 &-cl-EtEEs2as 104,190 104,190 0
(OF=FS L=y 200,000 *318 » 123 74,400
Os&EHH= 200,000& *31H *23| 12,400
Os&3 o a8 20,0002 »31H *123] 7,440
OBEZEAS 25,0003 *»199H 23| 9,950
HASA ¥ XtE2el 16,190 14,990 1,200
201 LEt23| 15,190 14,990 200
02 E&E=23Hl 15,190 14,990 200
OF At 2tel 700
st 34 200, 000& 200
SH83 A 200,000& 200
= =PI R IN 300,000& 300
oxg =X 2,600,000 2,600
OFA H&AZH| 1,648,000& 1,648
O&A 2E 7/ 1,537,000& 1,537
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SH: 2E2s
= 2EE FOIME Jpr2s
Crol FOIME 2 YAE (ctel e
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
2SS 111,602 112,842 A1,240
Altl 11,445
-4 100, 157
ZE2s FCHE JIgtY St 95,120 96,360 A1,240
AlHI 11,445
]l 83,675
FOHEH 2Z WA 3t 95,120 96,360 A1,240
AlHI 11,445
sl 83,675
FUXXE 292X 15,260 14,400 860
AlHl 11,445
4 3,815
201 L3y 15,260 14,400 860
AlHl 11,445
4l 3,815
01 AtSR2t2ldl 14,000 13,000 1,000
OFOUXXE Z2 08 ZAIY
20,0002 *453] *12& 10,800
AlHl 8,100
=l 2,700
OFOUNAALE SlOBM 42
10,000 & *25H x 123] *90% 2,700
AlHl 2,025
-4l 675
OsEs H&E 500, 000& 500
AlHI 375
I 125
02 =234l 1,260 1,400 A 140
ORMTH RS+ U Yerset|
1,260,000& 1,260
AlHI 945
4l 315
s Bt gs N2 60,020 60,020 0
301 LEEAZ 60,020 60,020 0
05 S-2l-HEEsE43 60,020 60,020 0
(OF=FS £~y 200,000 «18H x12& 43,200
OSN3 200,000& *18H x23| 7,200
OS&3e &Y 20,0002 »18H x123] 4,320
OrE2A43 25,0003 106 23| 5,300
AAMRX Z ISz 16,520 18,620 A2,100
201 €Et23| 14,020 13,620 400
02 23=2ZH| 14,020 13,620 400
OF A 2tel 700
X A 200,000& 200
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SN
X XH .
S Tt

el

I .G (BH) - MBAY - BAS Abol dd T =2t
01l &t o8
=843 HA 200,000& 200
W LE) KX 300,000& 300
Ooxte =X 3,400, 000& 3,400
O A HEAZH| 1,648,000 1,648
OFA 2HE2 X 1,424,000 1,424
O&FEA &= 4,815,000& 4,815
OFEAI & - 3l=& 350,000& 350
O&A R0 £ 1,611,000& 1,611
OFA BHHINAR 72,000 72
A& HIL S O] 2,500 5,000 £2,500
Al & HI 2,500 5,000 A2,500
Osee dsAHH 2,500,000& 2,500
RET 29 3,020 3,020 0
82 AL 3,020 3,020 0
01 At222lH| 3,020 3,020 0
OSIAAMA HMHIZ 500,000& 500
QdioIdESH EH 300, 000& *x2H 600
QdioldEZEH &Y 170,000 *4JH 680
O=2ADIEH 2¢ 190, 0003 =4 760
OoHAEYH 2 160,000 *3JH 480
AAsdd g A2 300 300 0
Qg A= 300 300 0
JIEIE2 A3 300 300 0
O=F0l Xrsyy & & 300,000& 300
el Bl (2 E2E) 16,482 16,482 0
16,482 16,482 0
Hl 16,482 16,482 0
82 AL 7,222 7,222 0
01 Al2 22| 4,420 4,422 0
ORNSE+=EH| 2,070,000& 2,070
OJIS2g2+8 2| 2,352,000& 2,352
229 2,800 2,800 0
oREz 2,800,000 2,800
AR =Y 9,260 9,260 0
229 P2 F=AH| 5,940 5,940 0
OJ |22 R=RY| 6,600,000& *90% 5,940
HRAINNERFAHI 320 320 0
OF I RFRY| 320,000& 320
EAB2YHRFEH| 3,000 3,000 0
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